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Review Lesson 3: Proportions – A Common TnReady Skill Beyond Similarity 

TnReady Selection Style: Multiple Selection of True Facts
Select all responses which are true about any facts which depend on solving proportion problems.

	1.(
	Corresponding angles are proportional in similar triangles.

	2.(
	Corresponding sides are proportional in similar triangles.

	3.(
	Two triangles can be proved similar by SSS.

	4.(
	Two triangles can be proved similar by ASA.

	5.(
	Two triangles can be proved similar by AA.

	6.(
	Two triangles can be proved similar by SAS.

	7.(
	Similar polygons have proportional corresponding sides.

	8.(
	Dilations are similar transformations because they have scale factors.

	9.(
	The proportion for calculating arc length is 
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	10.(
	The proportion for calculating sector area is 
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	11.(
	Arc length is a fraction of the area of a circle.

	12.(
	Sector area is a fraction of the circumference of a circle.


It is important to practice memorizing formulas and fact. There is practically no formula help on the TnReady Math Reference Sheet. So, practicing on memorizing formulas & facts, and practicing on solving problems using those formulas & facts is what will help you learn them.

Formula Match

Match the formulas on the right with their names on the left. Some may be used more than once. Some may not be used.

	___ 1. Arc length
	a. 
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	___ 2. Sector area
	b. corresponding congruent angles lie between two corresponding proportional sides 

	___ 3. Area of a circle
	c. circumference formula

	___ 4. C = 2(r
	d. a(b + c) = ab + bc

	___ 5. (
	e. They are equivalent proportions.

	___ 6. C = (d
	f. central angle of a sector or arc

	___ 7. SAS similarity
	h. all pairs of corresponding sides are proportional.

	___ 8. SSS
	i. two corresponding angles are congruent

	___ 9. AA
	k. 
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	___ 10. The distributive property
	l. A = [image: image6.png]




	___ 11. What is true about two proportions, if their cross-products are identical?
	m. center of a circle 


READ ALL INSTRUCTIONS AND PROBLEMS. SHOW YOUR WORK!
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The Similarity Transformation: Dilation
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Dilations have a scale factor, k, and a center of dilation. 

If k > 1, the dilation image is larger than the original. 
If 0 < k < 1, then the dilation image is smaller than the original.
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On the coordinate plane, we will only dilate at the origin, (0,0). 

[image: image15.png]320



This makes dilation easy; we just multiply the x and y coordinate 

[image: image16.jpg]center of
dilation s &
S




by the scale factor, k. In coordinate speak, (x, y) ( (kx, ky)
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Perform the dilations with the center of dilation at the origin and the given scale factors. List both sets of coordinates. Plot both on the provided grid.
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Similar Triangles: Setting up the right proportion, to cross-multiply.
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Hint: Calculate an unknown angle before
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           you say no.

( C ( ( F

( A ( (D

Therefore, similar by AA

When triangles are similar corresponding sides are proportional. Set up proportions to solve for the variables. Remember left over right, left over right –or- up, down, up down in setting up your proportions.
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5. Solve for x. Round to the nearest tenth.
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make the whole side needed for 

your proportion.
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You can also use corresponding pieces of sides

6. Solve for x.
as a proportion in similar triangles.
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Proportional Relationship with Parallel Lines

These ‘piece’ and ‘whole’ relationships carry over to multiple parallel lines.


7. 




8. 




9. Hint: Solve congruency first.
More Proportionality: Arc Length and Sector Area

When someone only wants part of the circumference of a circle, they are asking about arc length. When someone only wants part of the area of a circle, they are asking for sector area. And depending on who is asking, you will have to put the answer in terms of ( or give a decimal answer to the nearest unit, tenth or hundreds. This is an ACT and SAT and college math placement skill you will want to have to get to where you want to get.

The arc length, s, formula is 
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10. Calculate the arc length of the arc below


11. Calculate the sector area of the sector

in terms of ( and to the nearest hundredth.


below in terms of ( and to the nearest tenth.

s = ___________   in terms of (




sa = ___________   in terms of (
s = _______________   to the nearest hundredth

sa = _______________   to the nearest tenth



Dilation NEVER affects the angles, only the lengths of the sides of a polygon.
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